
50 Questions

Que. 1 What should come in place of the question mark '?' in the following number series?
70, 70, 140, (?), 280, 280

Correct Option - 1
Given Series:
70, 70, 140, (?), 280, 280
The logic followed here is as follows:
⇒ 70 x 1 = 70
⇒ 70 x 2 = 140
⇒ 140 x 1 = 140
⇒ 140 x 2 = 280
⇒ 280 x 1 = 280
Hence, 140 will come in the place of (?).

1401.
1602.
1803.
1704.
2005.

Que. 2 What should come in place of the question mark '?' in the following number series?
2, 12, 130, 56, (?), 132

Correct Option - 4
Given Series:
2, 12, 130, 56, (?), 132
The logic followed here is as follows:

⇒ 1 + 13 = 2

⇒ 3 + 32 = 12

⇒ 5 + 53 = 130

⇒ 7 + 72 = 56

⇒ 9 + 93 = 738

⇒ 11 + 112 = 132

7441.
7402.
7353.
7384.
7425.



Hence, 738 will come in the place of (?).

Que. 3 What should come in place of the question mark '?' in the following number series?
143, 132, 91, 70, 45, (?)

Correct Option - 1
Given Series:
143, 132, 91, 70, 45, (?)
The logic followed here is as follows:
⇒ 13 x 11 = 143
⇒ 11 x 12 = 132
⇒ 7 x 13 = 91
⇒ 5 x 14 = 70
⇒ 3 x 15 = 45
⇒ 2 x 16 = 32
Hence, 32 will come in the place of (?).

321.
302.
333.
364.
385.

Que. 4 What should come in place of the question mark '?' in the following number series?
111, 100, 110, 101, 109, (?)

Correct Option - 1
Given Series:
111, 100, 110, 101, 109, (?)
The logic followed here is as follows:
⇒ 111 - 11 = 100
⇒ 100 + 10 = 110
⇒ 110 - 9 = 101
⇒ 101 + 8 = 109
⇒ 109 - 7 = 102
Hence, 102 will come in the place of (?).

1021.
1002.
1013.
1054.
995.



Que. 5 What should come in place of the question mark '?' in the following number series?
2209, 209, 3389, 271, 4929, (?)

Correct Option - 4
Given Series:
2209, 209, 3389, 271, 4929, (?)
The logic followed here is as follows:

⇒ 12 + (13)3 = 2209

⇒ 13 + (14)2 = 209

⇒ 14 + (15)3 = 3389

⇒ 15 + (16)2 = 271

⇒ 16 + (17)3 = 4929

⇒ 17 + (18)2 = 341
Hence, 341 will come in the place of (?).

2401.
3502.
2253.
3414.
2415.

Que. 6 Find the wrong term in the following series.
121, 100, 77, 52, 25, 4

Correct Option - 5
Given series:
121, 100, 77, 52, 25, 4
Calculation :
 The series follows the following pattern:
⇒ 121 - 21 = 100
⇒ 100 - 23 = 77
⇒ 77 - 25 = 52
⇒ 52 - 27 = 25
⇒ 25 - 29 = -4
 The wrong term is 4
 Hence the wrong term in the series is 4.

1211.
1002.
253.
524.
45.



Que. 7 Find the wrong term in the following series.
111, 222, 444, 888, 1776, 3550

Correct Option - 5
Given series:
111, 222, 444, 888, 1776, 3550
Calculation :
 The series follows the following pattern:
⇒ 111 + 111 = 222
⇒ 222 + 222 = 444
⇒ 444 + 444 = 888
⇒ 888 + 888 = 1776
⇒ 1776 + 1776 = 3552
 The wrong term is 3550
 Hence the wrong term in the series is 3550.

1111.
2222.
17763.
4444.
35505.

Que. 8 Find the wrong term in the following series.
312, 156, 234, 585, 2049.5, 9213.75

Correct Option - 2
Given series:
312, 156, 234, 585, 2049.5, 9213.75
Calculation :
 The series follows the following pattern:
⇒ 312 x 0.5 = 156
⇒ 156 x 1.5 = 234
⇒ 234 x 2.5 = 585
⇒ 585 x 3.5 = 2047.5
⇒ 2047.5 x 4.5 = 9213.75
 The wrong term is 2049.5

5851.
2049.52.
2343.
3124.
1565.



 Hence the wrong term in the series is 2049.5.

Que. 9 Find the wrong term in the following series.
529, 841, 961, 1089, 1681, 1849

Correct Option - 4
Given series:
529, 841, 961, 1089, 1681, 1849
Calculation :
 The series follows the following pattern:
⇒ (23)  = 529

⇒ (29)2 = 841

⇒ (31)2 = 961

⇒ (37)2 = 1369

⇒ (41)2 = 1681

⇒ (43)2 = 1849
 The wrong term is 1089
 Hence the wrong term in the series is 1089.

5291.
8412.
9613.
10894.
16815.

2

Que. 10 Find the wrong term in the following series.
248, 260, 272, 287, 304, 323

Correct Option - 2
Given series:
248, 260, 272, 287, 304, 323
Calculation :
 The series follows the following pattern:

⇒ 212 + (6)2 = 248

⇒ 210 + (7)2 = 259

⇒ 208 + (8)2 = 272

2481.
2602.
2723.
3234.
2875.



⇒ 206 + (9)2 = 287

⇒ 204 + (10)2 = 304
⇒ 202 + (11)  = 323
 The wrong term is 260
 Hence the wrong term in the series is 260.

2

Que. 11 Find the wrong term in the following series.
20, 28, 38, 50, 64, 81

Correct Option - 4
Given series:
20, 28, 38, 50, 64, 81
Calculation :
 The series follows the following pattern:

⇒ 11 + (3)2 = 20

⇒ 12 + (4)2 = 28

⇒ 13 + (5)2 = 38

⇒ 14 + (6)2 = 50

⇒ 15 + (7)2 = 64
⇒ 16 + (8)  = 80
 The wrong term is 81
 Hence the wrong term in the series is 81.

201.
282.
643.
814.
505.

2

Que. 12 Find the wrong term in the following series.
202, 210, 226, 258, 322, 440

Correct Option - 3
Given series:
202, 210, 226, 258, 322, 440
Calculation :

2261.
2582.
4403.
3224.
2105.



 The series follows the following pattern:
⇒ 202 + 8 = 210
⇒ 210 + 16 = 226
⇒ 226 + 32 = 258
⇒ 258 + 64 = 322
⇒ 322 + 128 = 450
 The wrong term is 440
 Hence the wrong term in the series is 440.

Que. 13 What should come in place of the question mark '?' in the following number series?
252, 222, 189, 153, (?), 72

Correct Option - 4
Given Series:
252, 222, 189, 153, (?), 72
The logic followed here is as follows:
⇒ 252 - 30 = 222
⇒ 222 - 33 = 189
⇒ 189 - 36 = 153
⇒ 153 - 39 = 114
⇒ 114 - 42 = 72
Hence, 114 will come in the place of (?).

1161.
1102.
1083.
1144.
1125.

Que. 14 Find the wrong term in the following series.
100, 91, 81, 70, 60, 45

Correct Option - 3
Given series:
100, 91, 81, 70, 60, 45
Calculation :
The series follows the following pattern:

911.
812.
603.
704.
455.



⇒ 100 - 9 = 91
⇒ 91 - 10 = 81
⇒ 81 - 11 = 70
⇒ 70 - 12 = 58
⇒ 58 -13 = 45
The wrong term is 60
Hence the wrong term in the series is 60.

Que. 15 Find the wrong term in the following series.
98, 128, 162, 200, 242, 266

Correct Option - 2
Given series:
98, 128, 162, 200, 242, 266
Calculation :
 The series follows the following pattern:
⇒ 49 + 49 = 98
⇒ 64 + 64 = 128
⇒ 81 + 81 = 162
⇒ 100 + 100 = 200
⇒ 121 + 121 = 242
⇒ 144 + 144 = 288
 The wrong term is 266
 Hence the wrong term in the series is 266.

981.
2662.
1623.
1284.
2005.

Que. 16 Find the wrong term in the following series.
42, 54, 66, 78, 90, 100

Correct Option - 1
Given series:
42, 54, 66, 78, 90, 100

1001.
902.
783.
664.
425.



Calculation :
 The series follows the following pattern:
⇒ 7 x 6 = 42
⇒ 9 x 6 = 54
⇒ 11 x 6 = 66
⇒ 13 x 6 = 78
⇒ 15 x 6 = 90
⇒ 17 x 6 = 102
 The wrong term is 100
 Hence the wrong term in the series is 100.

Que. 17 Find the wrong term in the following series.
87, 105, 125, 147, 169, 197

Correct Option - 1
Given series:
87, 105, 125, 147, 169, 197
Calculation :
 The series follows the following pattern:

⇒ (9)2 + 6 = 87

⇒ (10) + 5 = 105
⇒ (11) + 4 = 125

⇒ (12)2 + 3 = 147
⇒ (13) + 2 = 171
⇒ (14) + 1 = 197
 The wrong term is 169
 Hence the wrong term in the series is 169.

1691.
1972.
1053.
1254.
1475.

2 

2 

2

2

Que. 18 Find the wrong term in the following series.
29, 60, 31, 54, 35, 51

291.
602.
313.
514.
355.



Correct Option - 4
Given series:
29, 60, 31, 54, 35, 51
Calculation :
 The series follows the following pattern:
⇒ 29 + 31 = 60
⇒ 60 - 29 = 31
⇒ 31 + 23 = 54
⇒ 54 - 19 = 35
⇒ 35 + 17 = 52
 The wrong term is 51
 Hence the wrong term in the series is 51.

Que. 19 What should come in place of the question mark '?' in the following number series?
13, 11, 20, 16,(?), 35

Correct Option - 3
Given Series:
13, 11, 20, 16,(?), 35
The logic followed here is as follows:

⇒ 13 - (2)1 = 11

⇒ 11 + (3)2 = 20

⇒ 20 - (4)1 = 16

⇒ 16 + (5)2 = 41

⇒ 41 - (6)1 = 35
Hence, 41 will come in the place of (?).

391.
382.
413.
404.
355.

Que. 20 What should come in place of the question mark '?' in the following number series?
35, 35, 70, (?), 840, 4200

2111.
2082.
2103.
3104.
2155.



Correct Option - 3
Given Series:
35, 35, 70, (?), 840, 4200
The logic followed here is as follows:
⇒ 35 x 1 = 35
⇒ 35 x 2 = 70
⇒ 70 x 3 = 210
⇒ 210 x 4 = 840
⇒ 840 x 5 = 4200
Hence, 210 will come in the place of (?).

Que. 21 What should come in place of the question mark '?' in the following number series?
161, 209, 267, 331, (?), 487

Correct Option - 5
Given Series:
161, 209, 267, 331, (?), 487
The logic followed here is as follows:

⇒ (12)2 + 17 = 161

⇒ (14)2 + 13 = 209

⇒ (16)2 + 11 = 267

⇒ (18)2 + 7 = 331

⇒ (20)2 + 5 = 405
⇒ (22)  + 3 = 487
Hence, 405 will come in the place of (?).

4001.
4032.
4063.
3954.
4055.

2

Que. 22 What should come in place of the question mark '?' in the following number series?
121, 142, 171, 208, (?), 306

Correct Option - 3
Given Series:

2501.
2432.
2533.
2604.
2695.



121, 142, 171, 208, (?), 306
The logic followed here is as follows:
⇒ 121 + 21 = 142
⇒ 142 + 29 = 171
⇒ 171 + 37 = 208
⇒ 208 + 45 = 253
⇒ 253 + 53 = 306
Hence, 253 will come in the place of (?).

Que. 23 Find the wrong term in the following series.
99, 298, 597, 996, 1495, 2049

Correct Option - 4
Given series:
99, 298, 597, 996, 1495, 2049
Calculation :
 The series follows the following pattern:
⇒ 99 + 199 = 298
⇒ 298 + 299 = 597
⇒ 597 + 399 = 996
⇒ 996 + 499 = 1495
⇒ 1495 + 599 = 2094
 The wrong term is 2049
 Hence the wrong term in the series is 2049.

991.
2982.
9963.
20494.
14955.

Que. 24 Find the wrong term in the following series.
130, 154, 178, 204, 232, 262

Correct Option - 1
Given series:
130, 154, 178, 204, 232, 262

1301.
1542.
1783.
2044.
2325.



Calculation :
 The series follows the following pattern:

⇒ 11 + 112 = 132

⇒ 10 + 122 = 154

⇒ 9 + 132 = 178

⇒ 8 + 142 = 204

⇒ 7 + 152 = 232

⇒ 6 + 162 = 262
 The wrong term is 130
 Hence the wrong term in the series is 130.

Que. 25 Find the wrong term in the following series.
994, 929, 866, 805, 746, 690

Correct Option - 2
Given series:
994, 929, 866, 805, 746, 690
Calculation :
 The series follows the following pattern:

⇒ (32)2 - 30 = 994
⇒ (31)  - 32 = 929
⇒ (30)  - 34 = 866
⇒ (29)  - 36 = 805
⇒ (28)  - 38 = 746
⇒ (27)  - 40 = 689
 The wrong term is 690
 Hence the wrong term in the series is 690.

8051.
6902.
9943.
9294.
8665.

2

2

2

2

2

Que. 26 Find the wrong term in the following series.
60, 78, 90, 112, 128, 146

601.
782.
1123.
1464.



Correct Option - 4
Given series:
60, 78, 90, 112, 128, 146
Calculation :
Logic:
The sum of two consecutive prime numbers starting from 29.
29 + 31 = 60 = the first number 
after 31, the next prime number is 37.
so
37 + 41 = 78 is the second number.
So the series follows the following pattern:
⇒ 29 + 31 = 60
⇒ 37 + 41 = 78
⇒ 43 + 47 = 90
⇒ 53 + 59 = 112
⇒ 61 + 67 = 128
⇒ 71 + 73 = 144
 The wrong term is 146
 Hence the wrong term in the series is 146.
 
We have to choose logic according to the options. There are many possible answers according to different
logics but we have to choose logic according to the options.
90 is not present in the options. So it is not the wrong term.

1285.

Que. 27 Find the wrong term in the following series.
16, 67, 244, 663, 1000,787

Correct Option - 1
Given series:
16, 67, 244, 663, 1000,787
Calculation :
 The series follows the following pattern:

⇒ 8 + 81 = 16

⇒ 18 + 72 = 67

⇒ 28 + 63 = 244

10001.
7872.
6633.
2444.
675.



⇒ 38 + 54 = 663

⇒ 48 + 45 = 1072

⇒ 58 + 36 = 787
 The wrong term is 1000
 Hence the wrong term in the series is 1000.

Que. 28 What should come in place of the question mark '?' in the following number series?
(?), 91, 364, 1456, 5824, 23296

Correct Option - 1
Given Series:
(?), 91, 364, 1456, 5824, 23296
The logic followed here is as follows:
⇒ 6.5 x 3.5 = 22.75
⇒ 13 x 7 = 91
⇒ 26 x 14 = 364
⇒ 52 x 28 = 1456
⇒ 104 x 56 = 5824
⇒ 208 x 112 = 23296
Hence, 22.75 will come in the place of (?).

22.751.
222.
283.
32.754.
315.

Que. 29 What should come in place of the question mark '?' in the following number series?
82, (?), 121, 242, 484, 968

Correct Option - 4
Given Series:
82, (?), 121, 242, 484, 968
The logic followed here is as follows:
⇒ 82 + 28 = 110
⇒ 110 + 011 = 121
⇒ 121 + 121 = 242

1111.
1212.
903.
1104.
1005.



⇒ 242 + 242 = 484
⇒ 484 + 484 = 968
Hence, 110 will come in the place of (?).

Que. 30 What should come in place of the question mark '?' in the following number series?
108, 42, 176, 54, 260, (?)

Correct Option - 4
Given Series:
108, 42, 176, 54, 260, (?)
The logic followed here is as follows:

⇒ 12 x 6 + (6)2 = 108

⇒ 13 x 7 - (7)2 = 42

⇒ 14 x 8 + (8)2 = 176

⇒ 15 x 9 - (9)2 = 54

⇒ 16 x 10 + (10)2 = 260
⇒ 17 x 11 - (11)  = 66
Hence, 66 will come in the place of (?).

721.
562.
443.
664.
705.

2

Que. 31 What should come in place of the question mark '?' in the following number series?
111, 123, 137, (?), 171, 191

Correct Option - 2
Given Series:
111, 123, 137, (?), 171, 191
The logic followed here is as follows:
⇒ 111 + 12 = 123
⇒ 123 + 14 = 137
⇒ 137 + 16 = 153
⇒ 153 + 18 = 171

1501.
1532.
1493.
1564.
1435.



⇒ 171 + 20 = 191
Hence, 153 will come in the place of (?).

Que. 32 What should come in place of the question mark '?' in the following number series?
552, 650, 756, (?), 992, 1122

Correct Option - 1
Given Series:
552, 650, 756, (?), 992, 1122
The logic followed here is as follows:

⇒ (24)2 - 24 = 552

⇒ (26)2 - 26 = 650

⇒ (28)2 - 28 = 756

⇒ (30)2 - 30 = 870

⇒ (32)2 - 32 = 992
⇒ (34)  - 34 = 1122
Hence, 870 will come in the place of (?).

8701.
8882.
8803.
7804.
7505.

2

Que. 33 Find the wrong term in the following series.
14, 24, 60, 210, 945, 5197.5

Correct Option - 1
Given series:
14, 24, 60, 210, 945, 5197.5
Calculation :
 The series follows the following pattern:
⇒ 16 x 1.5 = 24
⇒ 24 x 2.5 = 60
⇒ 60 x 3.5 = 210
⇒ 210 x 4.5 = 945

141.
242.
603.
2104.
9455.



⇒ 945 x 5.5 = 5197.5
 The wrong term is 14
 Hence the wrong term in the series is 14.

Que. 34 Find the wrong term in the following series.
1600, 1560, 1660, 1520, 1680, 1480

Correct Option - 2
Given series:
1600, 1560, 1660, 1520, 1680, 1480
Calculation :
 The series follows the following pattern:
⇒ 1600 - 40 = 1560
⇒ 1560 + 80 = 1640
⇒ 1640 - 120 = 1520
⇒ 1520 + 160 = 1680
⇒ 1680 - 200 = 1480
 The wrong term is 1660
 Hence the wrong term in the series is 1660.

16001.
16602.
16803.
14804.
15605.

Que. 35 Find the wrong term in the following series.
30, 36, 42, 52, 60, 70

Correct Option - 3
Given series:
30, 36, 42, 52, 60, 70
Calculation :
 The series follows the following pattern:
⇒ 13 + 17 = 30
⇒ 17 + 19 = 36
⇒ 19 + 23 = 42

301.
362.
703.
524.
605.



⇒ 23 + 29 = 52
⇒ 29 + 31 = 60
⇒ 31 + 37 = 68
 The wrong term is 70
 Hence the wrong term in the series is 70.

Que. 36 Find the wrong term in the following series.
44, 60, 124, 380, 1404, 5550

Correct Option - 2
Given series:
44, 60, 124, 380, 1404, 5550
Calculation :
 The series follows the following pattern:

⇒ 44 + (4)2 = 60

⇒ 60 + (8)2 = 124

⇒ 124 + (16)2 = 380

⇒ 380 + (32)2 = 1404

⇒ 1404 + (64)2 = 5500
 The wrong term is 5550
 Hence the wrong term in the series is 5550.

441.
55502.
3803.
14044.
1245.

Que. 37 Find the wrong term in the following series.
116, 216, 326, 456, 626, 886

Correct Option - 5
Given series:
116, 216, 326, 456, 626, 886
Calculation :
 The series follows the following pattern:
⇒ 216 - 116 = 100

1161.
2162.
3263.
4564.
8865.



⇒ 326 - 216 = 110
⇒ 456 - 326 = 130 
⇒ 626 - 456 = 170
⇒ 886 - 626 = 260
Let's look at their double difference:
⇒ 110 - 100 = 10
⇒ 130 - 110 = 20
⇒ 170 - 130 = 40
⇒ 260 - 170 = 90 (But it should be 80)
 So, The wrong term is 886.
 Hence the wrong term in the series is 886.

Que. 38 What should come in place of the question mark '?' in the following number series?
24, 40, 15, 51, 2, (?)

Correct Option - 3
Given Series:
24, 40, 15, 51, 2, (?)
The logic followed here is as follows:

⇒ 24 + (4)2 = 24 + 16 = 40

⇒ 40 - (5)2 = 40 - 25 = 15

⇒ 15 + (6)2 = 15 + 36 = 51

⇒ 51 - (7)2 = 51 - 49 = 2

⇒ 2 + (8)2 = 2 + 64 = 66
Hence, 66 will come in the place of (?).

701.
722.
663.
644.
685.

Que. 39 What should come in place of the question mark '?' in the following number series?
3, 14, 39, 84, 155, (?)

Correct Option - 4

2491.
3222.
3313.
2584.
2505.



Given Series:
3, 14, 39, 84, 155, (?)
The logic followed here is as follows:

⇒ 1 + (1)2 + (1)3 = 3

⇒ 2 + (2)2 + (2)3 = 14

⇒ 3 + (3)2 + (3)3 = 39

⇒ 4 + (4)2 + (4)3 = 84

⇒ 5 + (5)2 + (5)3 = 155

⇒ 6 + (6)2 + (6)3 = 258
Hence, 258 will come in the place of (?).

Que. 40 What should come in place of the question mark '?' in the following number series?
50, 1333, 172, (?),366, 12173

Correct Option - 3
Given Series:
50, 1333, 172, (?), 366, 12173
The logic followed here is as follows:
⇒ 1 + (7)  = 50
⇒ 2 + (11)  = 1333
⇒ 3 + (13)  = 172
⇒ 4 + (17)  = 4917
⇒ 5 + (19)  = 366
⇒ 6 + (23)  = 12173
Hence, 4917 will come in the place of (?).

34651.
34562.
49173.
49994.
49005.

2

3

2

3

2

3

Que. 41 What should come in place of the question mark '?' in the following number series?
(?), 15, 30, 90, 360, 1800

Correct Option - 5

101.
112.
143.
164.
155.



Given Series:
(?), 15, 30, 90, 360, 1800
The logic followed here is as follows:
⇒ 15 x 1 = 15
⇒ 15 x 2 = 30
⇒ 30 x 3 = 90
⇒ 90 x 4 = 360
⇒ 360 x 5 = 1800
Hence, 15 will come in the place of (?).

Que. 42 What should come in place of the question mark '?' in the following number series?
47, 62, 81, 100, (?), 150

Correct Option - 2
Given Series:
47, 62, 81, 100, (?), 150
The logic followed here is as follows:
⇒ (6)  + 11 = 47
⇒ (7)  + 13 = 62
⇒ (8)  + 17 = 81
⇒ (9)  + 19 = 100
⇒ (10)  + 23 = 123
⇒ (11)  + 29 = 150
Hence, 123 will come in the place of (?).

1111.
1232.
1283.
1254.
1215.

2

2

2

2

2

2

Que. 43 What should come in place of the question mark '?' in the following number series?
3375, 289, 6859, 441, 12167, (?)

Correct Option - 2
Given Series:
3375, 289, 6859, 441, 12167, (?)

13311.
6252.
3433.
7294.
2165.



The logic followed here is as follows:

⇒ (15)3 = 3375

⇒ (17)2 = 289

⇒ (19)3 = 6859

⇒ (21)2 = 441

⇒ (23)3 = 12167

⇒ (25)2 = 625
Hence, 625 will come in the place of (?).

 

Que. 44 What should come in place of the question mark '?' in the following number series?
5600, 700, 2800, 1400, 1400, (?)

Correct Option - 1
Given Series:
5600, 700, 2800, 1400, 1400, (?)
The logic followed here is as follows:
⇒ 5600 ÷ 8 = 700
⇒ 700 x 4 = 2800
⇒ 2800 ÷ 2 = 1400
⇒ 1400 x 1 = 1400
⇒ 1400 ÷ 0.5 = 2800
Hence, 2800 will come in the place of (?).

Alternate Method
 5600, 700, 2800, 1400, 1400, (?)
Here, consider two series alternatively,
⇒ First series odd places i.e 5600, 2800, 1400 
⇒ Second series even places i.e. 700, 1400,?
From the second series, we see it multiply by 2 at every step
⇒ 700 × 2 = 1400
⇒ 1400 × 2 = 2800
∴  the correct answer is 2800.

28001.
7502.
7003.
14104.
14505.

Que. 45 What should come in place of the question mark '?' in the following number series?
156, 174, 194, 216, (?), 266



Correct Option - 1
Given Series:
156, 174, 194, 216, (?), 266
The logic followed here is as follows:

⇒ (6)2 + 120 = 156

⇒ (7)2 + 125 = 174
⇒ (8)  + 130 = 194
⇒ (9)  + 135 = 216
⇒ (10)  + 140 = 240
⇒ (11)  + 145 = 266
Hence, 240 will come in the place of (?).

2401.
2202.
2803.
2654.
2335.

2

2

2

2

Que. 46 What should come in place of the question mark '?' in the following number series?
65, 65, 130, 390, (?), 7800

Correct Option - 3
Given Series:
65, 65, 130, 390, (?), 7800
The logic followed here is as follows:
⇒ 65 x 1 = 65
⇒ 65 x 2 = 130
⇒ 130 x 3 = 390
⇒ 390 x 4 = 1560
⇒ 1560 x 5 = 7800
Hence, 1560 will come in the place of (?).

3401.
15002.
15603.
16644.
17515.

Que. 47 What should come in place of the question mark '?' in the following number series?
2, 10, 30, (?), 130, 222

681.
702.



Correct Option - 1
Given Series:
2, 10, 30, (?), 130, 222
The logic followed here is as follows:
⇒ 1 + (1)  = 2
⇒ 2 + (2)  = 10

⇒ 3 + (3)3 = 30

⇒ 4 + (4)3 = 68

⇒ 5 + (5)3 = 130

⇒ 6 + (6)3 = 222
Hence, 68 will come in the place of (?).

753.
644.
435.

3

3

Que. 48 Find the wrong term in the following series.
25, 14, 14, 21, 42, 105

Correct Option - 2
Given series:
25, 14, 14, 21, 42, 105
Calculation :
 The series follows the following pattern:
⇒ 28 x 0.5 = 14
⇒ 14 x 1 = 14
⇒ 14 x 1.5 = 21
⇒ 21 x 2 = 42
⇒ 42 x 2.5 = 105
 The wrong term is 25
 Hence the wrong term in the series is 25.

141.
252.
213.
424.
1055.

Que. 49 Find the wrong term in the following series.
50, 97, 162, 257, 388, 561

501.



Correct Option - 1
Given series:
50, 97, 162, 257, 388, 561
Calculation :
 The series follows the following pattern:
⇒ 29 + (3)  = 56
⇒ 33 + (4)  = 97
⇒ 37 + (5)  = 162
⇒ 41 + (6)  = 257

⇒ 45 + (7)3 = 388

⇒ 49 + (8)3 = 561
 The wrong term is 50
 Hence the wrong term in the series is 50.

972.
1623.
3884.
5615.

3

3

3

3

Que. 50 Find the wrong term in the following series.
29, 60, 89, 111, 131, 148

Correct Option - 3
Given series:
29, 60, 89, 111, 131, 148
Calculation :
 The series follows the following pattern:
⇒ 29 + 31 = 60
⇒ 60 + 29 = 89
⇒ 89 + 23 = 112
⇒ 112 + 19 = 131
⇒ 131 + 17 = 148
 The wrong term is 111
 Hence the wrong term in the series is 111.

291.
602.
1113.
1314.
1485.


